o

I AT A A A TR F]

www.qingtie-sh.com 021-36352566

WS ELE SH RS

axial core linear series
LGD6

60

2500 (MAX)
EApEMNE  SADEESE BN

sums mams @ @  Sischmemo  Basicstalc Aol st morment Woight
e S To T Ty omm s
G GOt jgim gem Gotm kg Koim

wos | wees | e | w0 | w0 |25 | s | s | oms | vz

i: LGBEATIH B H0.5mm

TWHER Haoes-zs0oL

iTRIRER: LGB6'60

ITRiB$: LGD6-4000L fa 804
BB EMBREE
iTHARE

P.1



I T et

7 IR 3]

www.qingtie-sh.com 021-36352566

WA EL SR

axial core linear series

LGD8

4000 (MAX)
sHDE pTY
BrusoNE  EIMEERE  owesmomonen Weight
sums mume W& Opcomen Peds sl il i
ke Colkal) igia atm  totm K/m
wos | wss | e | s | 10 | se | a0 | sz |osm| 2
3E: LGBST I8 50.5mm
.
[o [ o |
.
y BEITH
T/HE: LGDB-2-4000L
TR LGBE70
iTHA: ARKE
BEBE
Twne

P.2



1A 12> 2]

www.gingtie-sh.com 021-36352566

XSRS
Multi-axial core guide series
LGD12
g
u u
oo Y
e IS Lo b
=la pETTSTY 3 (o eweo o
e < e <
Loomz-v

LGDB12-S/L/XL

LGDB12-V. 032
LGDB12-5 057
LGDBI12-L 073
LGDB12 XL 085

P.3



I R 6 3 A

Aot A

www.qingtie-sh.com 021-36352566
WEHAE SR
Multi-axial core guide series
LGD16

L
3
=
o
|aRT BRRT SR
=8 wE
H o H Wi W W M D L B B C G S Hodi & h P L
LaDB1A| 160 120
1650 | 5 |35 |120|118] 45 | 14 90| 15 15| mexe | 32|95 21 17 | 8o [4000
LabBisL 190 150

P.4



A e At A o 4]

www.gingtie-sh.com 021-36352566

BEESHMART

Single-axial core guide series

TGD 12

5000 ( MAX )
FRHHKBD391518
R TA R T
B TAE R 1.5mm %

35
1352001
36
4
EADTHGE  BEDEOAE BERARL [
sums WEMWK . o Bascdnamc  Basicstaic Atovabl iai momont Wsight
ne Toad rating. foad rating T Tx Ty m% s
St Collath Gkgt-m) (kot-m) (kgt-m) kg kgim
TeD12 [BD3otste| 12 ‘ 180 ‘ 200 54 | 40 | 48 | 053




TR, ] 12 ]

www.qingtie-sh.com 021-36352566

P S SR 5

Rectangle wheel linear rail series

SG

12[80] 26

4000[4000] 226 %0 | 9t | 1450

proz] 758 7 | 1835

[ el ool e -l B




%%

A2

www.gingtie-sh.com 021-36352566

HEBDBTIERG

Linear motion ball slide units series

SBR

5.5X9.5X5.4
19 | 8 | 10 | o0 |55 | sexasxsa | 107

seris | o1 | 20 s
sere0 | e20 | 225 | 27 | 45 | 77 | s
seres | t25 | 275 | 3 | 85 | 21 | 6 | 215 | 8 | 12 | 95 | 066 | eexiixes | 150
sBRa0 | o0 | w0 | 97 | 60 | 228 | 7 | 265 | 10a | 1o | 40 | 6es | eexitxes | 1o
0
B

semas | ¢35 | 325 | 43 | 65 | 265 28 | 13 | 165 | 45 |60 | oxiaxes | 245
serao | vs0 |75 | a8 | 75 | 208 3 | 155 | 17 | 55 |60 | oxiax: 325
serso | #s0 | 475 | 62 | o5 |3ss | 11 | 5 | 20 | 21 | 70 | e11 | 1xisxi0s | 526

SHFEMORAERKEMRT support Rail Stand Lengths and Dimensions

190 340 250 450 460 450 an

340 640 450 850 660 200 ol

Standar 860 70
Longih L 640 940 850 1250 860 Yoo g
940 1240 1250 1450 1060 1260 1270

N 20 20 25 25 50 30 35

3 150 150 200 200 200 200 200
BAKRMax Longin 139 1390 1850 1850 1860 1860 2070




A, A 12 2]

www.qingtie-sh.com 021-36352566

HE R AT ARET
Linear motion ball slide units series |
SBR...UU SBR...LUU i T

h0.02

s8R 10uU miouu-op | 372

seR13uU | 17 | 20 | 40 | 30 |276[ 85 |80 | 28 28 | ms |10 | 8 | Lmisuu-op | s10 | 784 | 100

SeR16UU | 20 | 225 | 45 | 45 | 33 [ 10 |80 [ 52 [ 30 | ms |12 | o | misuu-op | 774 |1180| 150

seR20uy |23 | 24 |48 | 50 | 39 [ 10 |60 | 35 [ 35 | me |12 | 1

mzouu-0p | 882 [ 1370 | 200

seR2suu | 27 | 30 | 60 |65 | 47 [115[ 50" | 40 | 40 | me |12 | 1

Lm2suu-0p | 980 | 1570 | 450

ser3ouy |33 | 35 70 [ 70 | 56 [ 14 |50 | 50 | s0 | ms |18 | 1

M3ouu-op | 1570 [ 2740 | 630

seRasuu | 37 | 40 | 80 | 80 | 63 | 16 |50 | 55 | 55 | me |18 | u

Lmssuu-0p | 1670 | 3140 | 025

seraouy | a2 | 45 [ 90 | o0 | 72 [ 10 |50 | 65 [ es |m10| 20 [ 20 | Lmeouu-op | 2160 [ 4020 | 1330

seRsouu | 53 | 60 | 120 | 110 | 92 [ 23 | 50 | s [ 80 |m10| 20 | 2

LM50UU-OP | 3820 | 7040 | 3000

SBR16LUU | 20 [ 225 | 45 | 85 | 33 | 10 |80 | 32 | 60 [ ms | 12 | 9 [LmieLuu-op | 1548 | 2360 | 300

sBR20LUU | 23 | 24 | 48 | 95 | 30 | 10 | 60

z

LM20LUU-0P | 1

H

2740 | 400

sBR2sLuU | 27 | 30 | 60 [ 130 | 47 [ 115 50" | 40 | 100 [ me | 12 | 1

LM25LUU-OP [ 1960 | 3140 | 00

sBR3OLUU | 33 | 35 | 70 [ 140 | 56 | 14 | S0 | 50 | 110 | me | 18 | 1

LM30LUU-OP | 3140 | 5480 | 1260

seRaoLUU | 42 | 45 | 00 [175 | 72 | 10 [ so" | 65 | 180 [mro | 20 | 2

LMaoLUU-OP | 4320 | 8040 | 2660




SR i AteAn s A 1A 3]
www.gingtie-sh.com 021-36352566

B BB R TZERT

Linear motion ball slide units series
TBR

TeR1 s 5Xv x4
o0 | o2 | 275 | 2901 | 55 | 1o | s | 1ess | 40 | 55 | soxesxss | 1s0
Tenzs | 025 | s2s | a1o7 | 65 | 2014 | 10 | 20 | 45 | 066 | eoxixes | 208
Terd0 | o0 | w75 | ses2 | 75 | 2245 | 12 | 229 | ss | o6 | eoxiixes | 20

SHMXMAOBRAERBEMRT support Rail Stand Lengths and Dimensions

190 340 250
sk 200 640 450
Standard
Length L 640 940 850 1250
040 1240 1250 1450
N 20 20 25 25
P 150 150 200 200
BAKEMax Longin 4000 4000 4000 4000




I T S e A i A R 2]
www.gingtie-sh.com 021-36352566

HZ&RERTRREAT]

Linear motion ball slide units series
TBR...UU TBR...LUU

B0 451

TeR1BUL | o6 a2 | 490 |2 |26 | 8 |42 |ms| 50| 30|18 |imevu-or| a0z | 400
terzouy | 20 | 8¢ | 1176 |8 [ 31 [ 10 |81 [ me | se | o7 [ s [ 21 [meouu-or | 7ee | 1178
Temzsuy | o2s | tss | 2052 | o2 | 41 | 12 | o5 | me | 65 | 50 | 41 | 28 | Lmasuu-op | 1ses | 2352
Tersouy | e30 | 1764 | 2040 | 91 | 48 | 12 | 75 | me | 75 | 60 455|035 tmaouu-op | 1764 | 2040
TeRteLUl | @16 780 | 980 |62 | 26 | 8 | &5 | Ms| 50| 60 | a1 | 18 |imreLuu-op| 3% | 4s0
Tenzol0u | 920 | 1508 | 2a52 | 68 | 31 | 10 | 96 | Mo | 54 | 70 | 34 | 21 |twzoruu-op| 7a4 | 1178
Tenzsluu | 025 | 9196 | 4704 | 82 | 41 | 12 | 130 | me | es | 100 | 41 | 28 |Lwestuu-op| 1see | 202
ool | 930 | sses | sas0 | o1 | 48 | 12 | 140 | me | 75 | 110 | 455|535 tmsoruu-op| 176s | 200




(f

1807 2 2]

www.gingtie-sh.com 021-36352566

HEBHBTRRRS

Linear motion ball slide units series

SCS...UU SsCs...Luu c02

W 4-81

hi0.02

|
Es002 s

lﬁi‘-‘-‘f‘-‘i‘"

SCS8UU = 2a

SCS 100U 28 )
SCS 120U 24 305, 5.75]
SCS 130U 55

SCS 160U
SCS 200U
5CS 250U
SCS 300U
SCS 350U
SCS 400U 102
SCS 500U
SCS 60UV 132

7
7

SCS8LUU
SCS 10LUU.
SCS 12LUU
SCS 13LUU.
SCS 16LUU
SCS 20LUU
SCS25LUU
SCS 30LUU
SCS35LUU
SCS 40LUU 102
SCS50LUU 122
SCS 60LUU 132 240 114

MGOLUU




HEBHBTZHERT

Winding shape ball joint rod ends series

SHF

W
=

3
SHF 4 4 43 | 10 | 5 | 24 [ 20 |32 |55 [ 3 0013
SHF 5 5 43 [ 10 [ s [ 24 [ 20 [ 32 |55 [ 3 0013
SHF 6 0 43 | 10 | 5 | 24 | 20 | 32 |55 ma 3 0013
SHF 8 8 43 | 10 | 5 |24 | 20 |32 |55 [ 3 0.013
SHF 10 10 43 | 10 | s |24 [ 20 |32 |55 [ ms 0013
SHF 12 12 a7 [ 13| 7 [28 | 25 | 3 [ 55 [ 3 0.020
SHF 13 13 a7 [ 13| 7 [28 [ 25 |3 [s5 [ 3 0.020
SHF 16 16 50 | 16 | 8 | 81 | 28 | 40 | 55 [ 3 0.027
SHF 20 20 60 |20 | 8 | o7 |34 |48 | 7 ms Me 0.040
SHF 25 25 70 |25 | 10 | 42 [ 40 [ 56 | 7 3 3 0.060
SHF 30 30 80 |30 [ 12 [ 50 [ 46 [ 64 | o [0 e 0110
SHF 35 35 o2 | 35 | 14 | 58 | 50 | 72 | 12 3 M10 0380
SHF 40 a0 |02 | 40 | 16 | 67 | 56 | 80 | 12 M10 M10 0510
SHF 50 50 | 122 | s0 | 19 | 83 | 70 | %6 | 14 M1z M1z 0.890
SHF 60 60 | 140 | 60 | 23 | o5 | 82 | 112 | 14 w12 M1z 1.500

i BT HERRABEEEA,



N

www qlngtle-sh com 021-36352566

HELSH (Ki) R

Cylinder linear rail series

we wces WCAS
WCHR#R WCSHE%E WCAS TEMH

HEWMEANEHRE LA ZEM, EMTUHBEA,
BHRR, RN, WETON, WRSEY, AD8
ANFTILAHNE. Fr D FHOEE, FTELEE
RENBNEASS.

HH: GOr15 454
WA HRC62+2
#EE: g6 he sy

RS TRAEF0.8mm (Rmax ) 8? ‘l

##: 0.8mm-~3mm
5ME: 3-120
QKM 100mm-3010mm (6000mm s available ) L
HE: 100mm7F @izsmm

E: Fa@E3.0mm (Rmax)

" w7
120 | w120 wosia 1 * [ess
150 [worso wosvn| 4= T [0

1. BEE N G H TR SRR




I BT 2 A A 1 S

www.gingtie-sh.com 021-36352566

S>> $#HHMT Spectal Machining for Shaft

) 150mm,

1 SISEEKE EARAERR, TR, 3 » (REa)

We can offer i 45 mm- ¢t up to 6000mM.

1.When length,we can meet your when you
we can anti- (shown n Fig a)

W Dowetjont W Dowetont R Butted joint AGERERCER
Threaded and aroundjoint

2 SRR I IR, NERG, FRAITA, GG, SO, ENEES. RASATLUMERENT, H#EX
:ﬂ;&&mﬂ!ﬁﬁ%ﬁw. BUELRIE T/ RO, WISREN R0 RRMTEREFRI, RIMWBZLE
2)

d, heat treatment and

product ¥ P

your should be satisfied with our service.

{1

%486 THREADING %1485 REDUCED SHAFT DIAMETER

%61 CHAMFERING



A, B 2]

www.gingtie-sh.com 021-36352566

HZ& BB RTZERT

Linear motion ball slide units series

SK

:
ELLUTU L wmad
S e e e O

P.15




HEHMARS

Linear bearing series

LM...LUU

26765 25 | -13 | e0s0
3is[865| 25 | -16 | 7850




(0

7 1 3]

www.gingtie-sh.com 021-36352566

HZ&HAR
Linear bearing series
LM...UU

v & &

Wavy 19 4 o %
e % . - : -0.005 0008
[ s Me-AJ = 5
Masuy " ve-AJ - 5
LMsuu 1 LMa-AJ B O

o o
M 100U 50 M10-A) | Lm1o-op 10 O e
1200 315 ii2-AJ | M12-0P 2

M1auu a ia-al | Lwra-op a




A A8 A BE X 3]

www.gingtie-sh.com 021-36352566




TR, ] 12 ]

www.gingtie-sh.com 021-36352566

¢

4 19 = = 4

HZ& MR R

Linear bearing series
LME...UU

4w
ees . W [mesa |- 7

e s . 0 | weew | - . w0
e ouy ‘ ws | weoa | o | 1o

v s o | weea | weor |

i ey 5 o | weea | weor | e »
LME 200U 6 L LME20-AJ | LME20-OP 20 ]
iz 0 s | wesa | wesor | e o
LME 30UU 6 325 LME30-AJ | LME30-OP 30 i
e sou s s | wion | Esor | 4o

L souu s a0 | wesoas | e | s o
LME 60UU 6 2050 LME6O-AJ | LMEGO-OP 60 -0.002
i souy s s | wesoa | wksor | 0

RE
- O
LMEABR S OB ERRR
A2
wwenr: SRy |, zews
U REES

P.19




021-36352566

e

ﬁ

E e i i e [ [ = [oew
= & . W @ |0 | o0 [eEaw
= = T (e [ [ o [ e [ | e e
@ S [ Tas [wa | @ | s [ e | ow | e | weasw
62 0 80 o o 215 59 3 50" 2160 | 4020 | LME40UU
o P P sia e [ 5 e [ e [ w0 | wewow




I P e A R 4]

www.gingtie-sh.com 021-36352566

H &R R

Linear bearing series
LMB...UU

0@4

weaw ey
e . o B = Jemon| .
“Go0s Go0n
oo . s = = [ esesamn
wosw . @ | wmsas | wesor |rz700(vz)
s 0w . | tmioas | wero-or | a5 (si)
e 200 s o1 | werzas | weieeor | 1000 (90| S £
s o0 . 20 | wmioas | wiere-op | 25400 (1)
o 20w . w5 | wezoas | wezo-op |strsorie)
wwezeww . 720 | weaens | weze-op |sai00 (| 8o e
weszw . 1oio | twesz-as | Lwesz-or | soso0 (2]
s 000 . w0 | wesons | ieso-or |sasoiz| )
Gono Sors
s sa00 . woos | Lumens | twss-or | 76200 (51
eseuw . o200 | tusea-as | Lwmse-or | torsoo (e | So 7=
LMB 25 A UU AJ
Han
Al EEE

EMRTRN  WERT op Fnm




7T
6600600600

0 |

www.qlngtle-sh.com 021-36352566

LMB...AJ

LMB...0P

wam o) | 000 o71a | ssr0 weau
12700 (1/2) =01l 19.050 (3/4 ) 12.95. 0902 | 11.806 [ - - - 21 27 LMB 4UU.
womsisw| [zt (e | [osme |wms| - | - | - | o | = | weew
22225 (78°) 0 31750 ( 11a")| 24.48 2 1.168 | 20.853 | 1.5 9 - 52 79 LMB 8UU
s | w0 vao [zomm| 15 | 11 | w00 | 70 | w0 | o
| 2oz oo T o | 1 [0 | m | o | werew
v o] [ssote)] | s 1727 [ araos| 15 | 12 | w0 | w0 | 10 | ietouw
somo (2| |memsew)| | sos2 1727 [ arsos | 25 | 15 | 50 | w0 | zm0 | wezouu
o0 (21| [0z ()| 8 [onao | 3, [arme [soema| o | 10 | 500 | 20 | w0 | wecaww
nan) | |osote)| | sor zore | 7e0us | o | 25 | 500 | w0 | 0 | wwmsan
oz (01| S fwamo )| [1o0se| [ aosm [sozmo| 3 | 30 | 500 | w0 | om0 | wesoun
wwstaw)|  [mwote)| | [ioos| | [ awse [1oowra] s | 40 |50 | 1m0 | o0 | wwmsewn
w01 | 8 2oz (a1 | * [1snase| ¢ [(asa0 [rasszs| 3 | s0 | 5o | raao | asso | cusoswn




I
A0

A48 B> 2]

www.gingtie-sh.com 021-36352566

Al i

EEEHKHRRT
Flange linear bearing series
LMF...UU LMK...UU




TR, ] 12 ]

www.gingtie-sh.com 021-36352566

S| UNIT:IN=0.102kg! #4z:mm
R4 1N=0.102kgf Unitmm

TIX175%108

3.4X6.5%3.3

s [ 1z

TIX17.5%108

HHHEEE




TR, ] 12 ]

www.gingtie-sh.com 021-36352566

EZEHKHRRT
Flange linear bearing series
LMF...LUU LMK...LUU

=

" - SO S W
Cweaw R WERe o« AR 0 AR L A o A8,
.

ey o
LMFBLUU 53 -0.013

LMF10LUU 105 o 0|
U] 700 o0 [Tz| o [Te O, [T
[ 50 [as | 00 [~ |
ETeLUy T m S,
LrzoLuy 250 e |

LurzsLUy s 21 [0 3, [T ]
CFsoLu w5 s

LurseLUy o o] | |
CrsoLu 560 Oois [0 | 8oy [18 | 04

LusoLuy S50 e | W o
LMF80LUL 4500 . B | o a4 | -03

KoLy % | e | o | a 2o |
LUU 46 5| 5 | -0.013
UKot o o
Lo [ e o [l

MKT2L00 w2 oot [T o [Te] S, [
LK13LUU 108 [[23 | -oote e |

KisLUU T e S,
LuKkzoLU 250 PR T
LK5L0U s Sore N S0, [HEEE e
LT 575 23
LMKGSLUD 70 5 =] o Y
LuKeoLUY 30 | 40 | Sy [0 | 8o, [1st | 08

KEOLU e |
LKsoLUU 4060 Bozo | 0 | Bozs | ont s | 03




0 |

www.qlngtle-sh.com 021-36352566

SI UNIT:IN=0.102kgf #4zmm
llnmm=nmzm Unitmm

3.4X6.5%3.3 quuu
3.46.5%33 = @1 | 7se | twrsLou

E 568 LMF10LUU
E 657 LMFT2LUU
= 10
E 1230
E 1400
e 7560 | 3140 | LMF25LUU
~ 2490 | 5490 | LMFaoLUU
E 2 6270 | LMF35LUU
= 3430 | 8080 | LMF$OLUU
oX1ax86 = 5080 | 15900 | LMF50LUU
T2 TIX17.6%10.8 =l 7650 | 20000 | LMFsOLUU

3.4X6.5X3.3 LuKeLUY
AX6.5%3.3

1 T2 | vixizexios




A A8 A BE X 3]

www.gingtie-sh.com 021-36352566

EZEHKHRRT
Flange linear bearing series
LMH...UU

T T
-

=1 o —
HaUY 0011
[ o
20 o000 o] o [Tw] O
L1300 | 0013
Hi60
w200y T 2 |
oo 5 S (W 3, [
a0y ED) A ] 03

LMH...LUU

LMH6LUY 27 5
LMHBLUU a5 5 2|
LMH10LUU. o1 g o

0010 a1 ] o [
LMH12L00 %2 [z ] 8 |
CMH13L00 17 [2 | 5|
LMH16LUU 165 e |
LMH20LUU 247 0

[ )
LMH25LUU 500 oz SR 5., EEEN| o |
LMH30LUU 563 23 | -04 | 7




A A8 A BE X 3]

www.gingtie-sh.com 021-36352566

“Sosasaasan

SI UNIT:AN=0.102kgf  S4mm
RR£4:1N=0.102kg! Unitmm

35| 6exiies E 160 280 | LMoy

w
LMH13E LM 168

SI UNIT:1N=0.102kg!  &fi:mm
B8 42:1N=0.102kg!  Unit:mm

1 . s
i i

- | saxesxss -5 LuHeLUY
| saxesxas = 80 | LuHsLUU
- 5X8Xa. T v - 12| (MH10LUU
5X8 -5 22| MA12L0Y
- 5X8X. 7 60| CMH13LUU
2 X = 125 240 | LMHT6LUU
21| 55x05%64 ) 143 280 | LMH20LUU
32 | s5x05X60 ) 159 320 | LuH2sLUU
1 35 | eoxiies ) 254 560 | LMH30LUU




I At 12 4]

www.gingtie-sh.com 021-36352566

EZEHKHRRT

Flange linear bearing series
LMEF...UU

Stz g o P
LMEF30UU 515 -0.001 o
LMEF40UU_ 1185 o -03
LuErsouy T [ Ts ]| ‘0912 [TEs ] 0013 [T ]| i
U X PP BT Y
LMEF...LUU

LuraLu s o Boos | =
MEFT2LU0 Er e v = -
LeFTaLUU e | 16 | om0 Do 70| 03 [w | o
neF2oL00 20 “ooor e
erasLuu 355 “oor P T
LUL 655 -0.001 7| - 123 5|
LMEF40LUU 1560 9
o s ] 9, 5
—aa—{ 0013 |2 Sors o4 2
WEFsoLUY EC T e | i
LMEFEOLUU 4500 Bos | on o4




A A8 A BE X 3]

www.gingtie-sh.com 021-36352566

e
oaasadases

& ‘%ﬁ" &

SIUNIT:AN=0.102kgf  S4mm
RR£4:1N=0.102kg! Unitmm

LMEFBUL

T TIX17.5%108 = 480 1020 | LMEF8OUY

SI UNIT:1N=0.102kg!  &fimm
B A 42:1N=0.102kg!  Unitimm

oX1ax86
TIX17.6%108




T AU A PR ]

www.gingtie-sh.com 021-36352566

EZEHKHRRT
Flange linear bearing series
LMEK...UU

Luekauy o
WEK 1200 & =300 o I °
LMEK16UU % ~0.008 0000 o2 o
LwEkzoU T 0001 oz
Luekzsuy 25 oo [0 | Gy [ s
LMEK30UY 50 “o00t o
Lueksouy ws | w0 [ o Te | o 23
Ciekso0u i 0o [Tios EN
LMEK60UU 2740 C Bos | 125 | 84
LMEK...LUU

ExaLuy 40 S0 Booa | 5 o
NEKT2L00 5 ‘o0 e BN
LMEK16LUU 160 o011 -0ot1 [0 | -03 s | o
LMEK20LUU 230 ~0.001 80 -0.2
CexesLuu Fi e |0 | 2o [z m
LMEK30LUU 575 -0.002 - 123 76
] e il T N

MEKs0LUY E “oors [Tee] w9,
LMEKBOLUU 060 B | 211 ot




A A8 A BE X 3]

www.gingtie-sh.com 021-36352566

R

SI UNIT:AN=0.102kgf  S4mm
RR£4:1N=0.102kg! Unitmm

LMEKS0UU
06| 18 | 1 TIX17.5%108 E 80 1020 | LMEK8OUU

S UNIT:IN=0.102kg! #4z:mm
BSR4 1N=0.102kg! Unitmm

oX1ax86
TIX17.5%108




AR A BN ]

www.gingtie-sh.com 021-36352566

DFU (DIN 69051 Form B ) iRERIRFF ALK

Dimension Table of DFU(DIN69051 Form B )Ball Screws

QL
(Oil Hole)

1:21 Lead Da: H#Ball

n: BESNumber of Circuits
(Kg)

* 28 |48 | 10|80 |38 |40 |55 M6 |4 620 | 1270 | 35

Rit2 Stitness ( Kgf/um )
d(Kgh)

DFU 1604-4 4 | 2381
* DFU 1605-4 | 16 | 5 | 3175 | 28 | 48 | 10 [100| 38 | 40 [ 55 | me |4 | 780 | 1790 | 20
DFU 1610-3 10 3175 |28 | 48 | 10 [118] 38 | 40 | 65 | M6 |3 | 721 | 1249 | 15
OFU 2004-4 | | 4 | 2381 | 36 | 58 | 10 |80 |47 | 44 |66 | w6 |4 | e | 1617 | 4
*  DFU 20054 5 | 3175 | 36 | 68 | 10 101 47 | 44 | 66 | M6 | 4 | 1130 | 2380 | 25
DFU 2504-4 4 | 2381 |40 |62 |10 |80 |51 | a8 |66 | M6 |a| 777 | 2002 | a8
* __DFU 2505-4 5 [ 3175 | 40 [ 62 [ 10 [101] 51 [ 48 [ 66 | M6 [ 4| 1280 [ 110 | 35
DFU 25064 | 25 | 6 | 3069 | 40 | 62 | 10 [ 105 | 51 | 48 | 66 | M | 4 | 1528 | azs4 | 40
DFU 2508-4 8 | 4762 | 40 |62 | 10 [120| 51 | 48 | 66 | M6 | a | 1041 | sse3 | 38
*  DFU 2510-4 10 | 4762 [ 40 [ 62 [ 12 [145] 51 [ 48 |66 | M6 |4 | 1044 | 877 | 33
DFU 3204-4 4 | 2381 | 50 | 80| 12|80 |65 | 62 | o | me|a| 871 | 2661 | s6
* __DFU 9205-4 5 | 3175 | 50 | 80 | 12 [102] 65 | 62 | o | M6 |4 | 1450 | a1s0 | a0
DFU 32064 | 32 | 6 | 3969 [ 50 | 80 | 12 [105[ 65 [ 62 | o [ M6 |4 | 1720 | azos | a7
DFU 3208-4 8 | 4762 | 50 | 80 | 12 (122 65 | 62 | o | M |4 | 2180 | sor0 | 44
*  DFU 3210-4 10 | 6350 [ 50 | 80 | 12 [162] 65 [ 62 [ o | me |4 70 | 7
* _DFU 4005-4 5 | 3175 | 63| 93 | 14 [105| 78 | 70 | o | m8 |a| 1610 | s330 | 49
DFU 40064 | , |6 [ 3969 [ 63 [ 03[ 14 [108| 78 [ 70 [ o [ w6 [a| 1911 | sas8 | s5
DFU 4008-4 8 | 4762 | 63 | 03 | 14 [132] 78 | 70 | o | me |4 | 2435 | a0 | s2
*  DFU 4010-4 10 | 6350 | 63 | 03 | 14 (65| 78 | 70 | o | M8 | 4| 3o10 | o520 | s0
OFU 50104 | | 10 | 6350 | 75 | 110 16 | 171 | 03 | 85 | 11 | w8 |4 | ass0 | 12500 | 65
* _ DFU 50204 20 [ 7.444 [ 75 [110[ 16 [280 [ 93 [ @5 | 11 ['me |4 | 46aa | 14327 | 505
* _OFU 6310-4 | | 10 | 6350 | 95 |125| 18 | 182|108 | o5 | 11 | M8 | 4 | 070 | 16600 | o
DFU 6320-4 20 | 9525 | 95 [ 135 20 [200 [ 115] 100 [135 | w8 | 4 | 7573 | 23860 | sa
* _OFU 80104 | | 10 | 6350 | 105 | 145 20 | 182 | 125 | 110 135 | M8 | 4 0 | 2130 | 90
DFU 8020-4 20 | o525 | 125 | 165 | 25 | 205 | 145| 130 [135 | M | 4 | 485 | sosos | san
DFU10020-4 | 100 150 | 202 | 30 | 340 | 170 | 155 | 175 | e | a | es20 | 30183 | 300

i ARk TS HTHEEME Noteiwith sign K can produce left helix

P.33




W P G A

www.gingtie-sh.com 021-36352566

BK 4HREE i
Ei#% Fixed Side +

XA FVRATLRZ
X drl hroughtY counter bore depthZ.

BK10 | 10|25 5
BK12 |12 25| 5
BK15 | 15| 27| 6 |32
s
8

BK17 | 17 | 35
BK20 | 20 | 35
BK25 | 25| 42| 12 | 64
BK30 | 30 | 45| 1

BK35 | 95| 50 14 | 67
BK40 | 40 | 61 18 | 76

76 | 78 [ 33 [102] 11 [ 14 [ 20 | 13
88 | 79 [ 35 [114] 11 [ 14 [ 20 | 13
100| 90 | 37 [130| 14 | 18 | 26 [175

2 XBLOVRAIL

BE EER R s
%358k Floated Side —rv— A
i

BF12 | 10 | 20 | 60 | 43 | 80 | 25 | 34 [325] 18 | 46 | 55 | 66 | 108 | 15
BF 15 | 15 | 20 | 70 | 48 | 35 | 28 | 40 | 38 | 18 | 54 | 55 | 66 | 11 | 65
BF17 | 17 | 23 | 86 | 64 | 43 | a0 | 50 | 5 | 28 | 68 | 66 | o | 14 | 85
BF20 | 20 | 26 | 88 | 60
BF25 | 25 | 30 | 106 | 80 | 53 | 48 | 64 | 70 | 83 | 85 | o | 11 | 175 | 11
89
%6

BF30 | 30 | 32 | 128
BF35 | a5 | 32 | 140
BF 40 | 40 | 37 | 160 | 110 | B0 | 60 | 100 | 90 | 87 | 130 | 14 | 18 | 26 | 175




| [ R

www.gingtie-sh.com 021-36352566

a2
22X il heoughY counter
£5to Gopin

2-xan
5, 2-Xdilthrough

T
Q\\L_

EK 5 5 [165| 55 | 185 35| 36 | 21 | 18
EK 6 6 | 20 |55 | 22 |85 | 42 | 25 | 21 | 18 | 18 | 20 | a0 | 45 | 95 | 11

7 | 26

EK10 | 10 | 24 | 6 [295
6
6

295
£
EK20 | 20 | 42 | 10 | 0

EF
XK Floated Side ;5 ini e

EF 8 6 | 14 | s2 | 3 | 26 | 17
EF10 | 8 | 20 | 70 | 48 | 85 | 25
EF12 | 10 | 20 | 70 | 48 | s | 25
EF15 | 15 | 20 | 80 | 49 | a0 | 30

EF20 | 20 | 26 | 95 | s8 | 475 | 0




IS F A A A A B 3

www.gingtie-sh.com 021-36352566

K
JEE Fixed Side

4 XERBYRAARZ
Xl througn
B counter bore depthz

A XERIVTEREL

=il inrough
ov.

3
e
L #1030
et (Unithmm
aesten ) v IR (Y (NS =AY (ol IRVARHY e I S BT s S (vl (=
K5 5 |165] 6 [105|185| 20 | 34 | 26 | 26 | 55 | 35 | 54 | 65 | 4
FKe | 6 | 20 | 7 | 15 | 22 | 22 | 56 | 28 | 2 | 55 | 55 | 54 | 65 | 4
Ko 8 | 23 | o | 14 | 25 | 28 | 43 | 35 | 3 | 7 | 4 |34 65| 4
FK10 | 10 | 27 [ 10 | 17 [295| 34 | 52 | 42 | 42 |75 | 5 | 45| 8 | 4
FKi2 | 12 | 27 | 10 | 17 |205| 36 | 4 | 44 | 4a | 75 | 5 | 45| 8 | 4
FK15 | 15 | o2 | 15 | 17 | 6 | 4 | 63 | 50 | 52 [ 10 | 6 | 55 | 95| 6
FK20 | 20 | 52 | 22 | 30 | 50 | 57 | 86 | 70 | 68 | 8 | 10 | 65 | 11 | 10
FK25 | 25 | 57 | 27 | 30 | 60 | 63 | e8 | 8 | 79 | 13 [ 10 | s | 15 | 18
FK30 | 30 | 62 | 50 | s2 | &1 | 75 | 117 | es | o3 | 11 | 12 | 11 |75 15

AHEE
Model No.




o

I P e A R 4]

www.gingtie-sh.com 021-36352566

P42 450 2 3 B 1 3 5K TS R 3R 51
Self-lubricating rod end bearings female thread steel on ptee-metallic
fabric maintenance free series

PHSA

prsas | 5 | msws |18 [125) 10 [ 8 [ 4 |6 |27 [ 10] 0 [36] s sisTK
PHsA6 | 6 | Mex |20 | 13| 11| o | 5 [675| 50|12 | 10| 45 | 19| 720 | o0z | sweri
PHSAG | © | Mexi2s | 24 | 16 | 14 [ 12| 5 | o | o0 | 16 [125] 48 | 13 | 1160 | o0d6 | sweri
PHSAT0 | 10 | Mioxts | 28 | 19 | 17 | 14 |65 [105] 43 | 20 | 15 | 57 | 13 | t1es0 | oo7 | snoi
PHsAt2 | 12 | Mizai7s | 52 | 22 | 19 | 16 |65 | 12 | 50 | 22 [175| 66 | 13 | 1700 | oa1s | swek

PHsAta | 1a | miaxe | 36 | 25 |22 | 10 | 8 [135] 57 |25 |20 | 75 [ 13 | 2400 | o170 | suati

PHSAte | 16 | miexe | a0 | 27 |22 |21 | 8 | 15 | 6 |28 |22 | 84 | 13| 2850 |o2s0 | swerik
PHSA18 | 18 | M1ex1s | a5 | 31 |27 | 23 [ 10 [165| 71 |32 [ 25 | o4 [ 13 [ sso0 | oseo | susm
PHSAZ0 | 20 | M2ox1s | 50 |34 30 | 25 [ 10 | 18 | 77 [ 33 [275[ 102 13 [ 4000 | 04z | sweomic

PHsAz2 | 22 | maaxts |54 a7 [ 32 |28 [ 12 [ 20 [ e [ a7 [s0 [111 1o [ s200 | osa | swemic

PHsAzs | 25 | M2sx2 | 60 | 42 | 30 | 31 | 12 | 22 | 94 | 42 [a3s| 124 | 13 | 6000 | 075 | SisTik
PHSA2s | 28 | w272 | o6 |46 | 41 |35 | 14 | 26 [103] a1 [a7 [ 136 18 SI28TK
PHsaso | 30 | maoxe [ 70 [ so |41 [ a7 [ 15 [ 25 [110] s1 [ a0 [1as| 13 [ mroo | 130 | sworic

1EREESY, WRESIBLITEMM “L" W “£" . il PHSAL8HMBX1.25L-6H
2ARFIKEHASF14H

1.For Left-hand i L ber and thread PHSALBK Mx1.25L-6H
2.A=TO line SF1 materiad on the surface of spherical plain

P.37




(f

KA A AeAuA A 1B F)
www.gingtie-sh.com 021-36352566

[

)

SMRGUA SR B8 BT I TR R T
Self-lubricating rod end bearings male thread steel on ptee-metallic
fabric maintenance free series

POSA

Y

545 Tk
PosAe. woxt 6 |20 | o |em| o |22 | & | 13 40| oozr | saeTik

PosAS wexizs | o | 20 | 12 | o | 42 | 25 | s | 19 500 | o0 | saeic

PosAl0 wiois | 10 | 28 | 14 | 105 | 46 | 20 | 2 | 15 | 1290 | owss | satorK
Posatz | Mizxi7s | 12 | 52 | 16 | 12 | se | 3 | 70 | 13 | 1700 | oos2 | satemk
PosAls Mine | 14 | s5 | 19 |35 | e0 | s | 77 | 13 | 2400 | ouss | sauark
POSATS Miee | 16 | 40 | 21 | 15 | 66 | 40 | @ | 13 | 2850 | 0205 | sateri
Posata miexis | 18 | 4 | 23 | 165 | 72 | 4 | 5 | 13 | 2500 | ozm0 | sawemk
PoSAZ0 Macts | 20 | so | 2 | 18 | 78 | 47 | 103 | 13 | 4000 | oar | sazomi
Posazz Meacis | 22 | sa | 2 | 20 | ss | &1 | 11 | 19 | seoo | owrs | saeevi
PosAzs Mz | 25 | 60 | a1 | 22 | o4 | &7 | 124 | 19 | 6000 | osso | saestk
PosAzs maxe | 28 | o6 | 35 | 26 | 103 | ez | 138 | 1 SazeTiC
PoSAI0 Moz | 30 | 70 | a7 | 25 | 110 | s | 145 | 13 | 100 | 1070 | sasori

1EREMBY, MADSTBLFRR/M “L" W “£" . HII0: POSAL8HEMSEX1.25L-6H

2 ARTHEHESFIHH

1.For Left-hand thread suffix “L" is added to bearings number and thread POSAL8K M8x1.25L~6H
2.A=TO line SF1 materiad on the surface of spherical plain

P.38



I T S e A i A R 2]
www.gingtie-sh.com 021-36352566

LA BITR K AT I 56 T AR R 5

Winding shape ball joint rod ends series
sa...c

Straight joint

o RAEH ARG ARN R el °'I

O RAmHEEA LA

Ball joint housing made of zinc bas ealloy,
o RREHE,

With rubbor dust seal

sasc | 8 |Mexi2s| 12| 24 [425[12[ 14| 31 [10]4a8|36] 5 [17[125] 16 [ 23 [14][ 25|66 ] 68

satoc | 10 [miox12s| 14] a0 [s0.5] 15| 17| 37 [11]57[43] 6521 [ 15 [ 19 [ 27 [ 17|25 10 | 112

sa10C-1 10 | mioxts| 14| 30 [se5| 21 [ 17| 43 [11]57[43[ 65|21 15 [ 19 | 27 [17]25] 10 [ 112

$Q12¢ | 12 |wi2x125[ 17| a2 [57.5[ 17| 19 | 42 [15] 66 50| 6.5 | 25 [17.5] 22 [ a1 [ 19 [ 25 | 16 | 164

5Q12C-1 | 12 |M12x1.75 17 | 32 [64.5 24 | 19 | 49 1566 | 50| 6.5 [ 25 [17.5] 22 | 31 [ 19 ] 25| 16 | 164

sa14C | 14 |m1ax15 | 19| a8 |73:5] 22 [215] 56 |17 75|57

5Q14C-1 | 14| M1axz0 | 19 | 38 [79.5] 28 [215] 62 [17] 75| 57

oo
k3
k3
2

sa16C | 16 | m16x15 | 22| 44 [79.5] 23 [235] 60 [19] 84 [ 64

5Q16C-1 | 16| M16x20 | 22 | 44 [85.5] 29 [235] 66 [19]84 | 64| 8 [32] 22 | 27 | 30 [ 22 20] 26 | 336

sa1sc | 18 | miex15| 23] 45 | 90 | 25 [265] 68 |20] 93 [71] 10 [ 34 | 25 [ 31 [ 44 [ 27 [ 20 | 53 | 464

5Q20C |20 | M2oxts | 27| 50 | 90 | 25| 27 | 68 [24] 00| 77| 10 [ a5 [27.5] 34 | 44 [ 30| 20| 45 | 538

$Q22C | 22 | M22x15 | 27| 52 | 95 | 26| 28 | 70 |24 10084 12 [ 41| 20 [ 37 [ 50 [ a2 | 16| a8 | 713

-EREMSES, WRIEM ", B SOLERS
~Forleft-hand thread of L oL 6RS
FHEHE @

#
~The type number of ball joints without seal is SQ...




BT RIBR AT 3 5 T 5 AR R 5

Straight ball joint rod ends series

saz

1807 2 2]

www.gingtie-sh.com 021-36352566

o2|d
Straight joint

CRABHALRBERNAL

ORABMMBEAZHAL s I
o BRREHE.

With rubber dust seal.

sazsRs | 5

Msx08 | o 20| 8 [11| 7 |a6|2a| a|12] 0|1

sazeRs | 6

MBX1.0

8

55.2

sazsRs | 8

MBX1.25

10

sazioms | 10

M10X1.25.

1

SQZ10RS-1| 10

M10X1.5

1

sazizms | 12

M12X1.25.

sQz12Rs-1| 12

M12X1.75.

M14X1.5

M14X2.0

17

109

M16X15

19

12

M16X2.0

19

M18X1.5

20

M20X1.5

24

133

saz14Rs | 14
saz14Rs-1] 14
sazieRs | 16
SQz16RS-1] 16
sazisms | 18
SQz20Rs | 20
saza2ms | 22

M22x1.5

24

145

-HAEFEGEREN, RRREEM L
~Forleft-hand thread of
E 20T

i
~The type number of balljoints without seal

. Bi: SQLERS




IS F A A A A B 3

www.gingtie-sh.com

B E DR (ER RS )

Spherical plain radial bearings with fitling crack

021-36352566

GE...ES
;
:
T T
Y, Y,
.
e i »
RIS @ Weight
08 flimbec d D B c dimin. 3 » (kg)
Dynamic Static




At 1B 3]

www.gingtie-sh.com 021-36352566

B RO XTI (PR )

Spherical plain radial bearings

GEG...ES

5
¢
EEE

GEGAE . 7 4
GEGsE s i ° 5
GEGEE 0 16 0 5 o 55 27 21| o081
GEGEE 0 T | O i Xl w0 21 | ooota
GEG10ES 0 | 2 | 2 7 15 10 2 18| ooat
GEG12ES 2 | 2 | 15 ® i 7 s 15 | o033
GEGISES GEG15ES2RS 15 | 3 | 16 | 10 | 18 21 106 | 16 | 004
GEG17ES GEG17ES-2RS 7| % | 2 | 2 | & 0 16 | 19 | ooss
GEG20ES GEG20ES-2RS 20 | a2 | 25 | 16 | 20 0 200 | 17 | o1ss
GeGasES GEG25ES 2RS 25 | a7 | 28 | 18 | 28 0 30 | 17 | o208
GEGa0ES GEGI0ES-2RS 30 | 55 | s2 | 20 | a 0 400 | 17 | osos
GEG3SES GEG3sES-2RS s | e | s | 2 | ® 100 500 | 16 | osos
GEGaoES GEG0ES 2RS w0 | o8 | a0 | 2 | 44 127 w0 | 17 | osez
GEGasES GEG5ES2RS s | 5 | e | 2 | s 156 780 | 15 | ors
GEGSOES GEGS0ES-2RS s | o0 | so | o | s | 2 1220 | 17 | taa
GEGEOES GEGG0ES2RS 0 | 105 | e | a0 | e | w5 1560 | 17 | 160
GEGTOES GEGTOES 2RS 70 | 120 | 70 | a5 | 77 | a0 200 | 16 | 501
GEGEOES GEGBOES2RS %0 | 130 | 75 | so | e | 40 | 2e50 | 14 | 605
GEG9OES GEG90ES-2RS 0 | 10 | s | s | e 610 sos0 | 15 | sz
GEG100ES GEG100ES 2RS 100 | 160 | ss | ss | 110 | ess | ses0 | 1a | so0s
GEG110ES. GEG110ES-2RS 10 | 180 | 100 | 70 | 122 | es0 a0 | 12 | oee
GEG120ES GEG120E5-2RS 20 | 210 | 115 | 70 | w2 | toe0 | sa0 | 16 | taz2
GEG140ES GEG140ES-2RS 140 | 200 | 130 | e | 151 | 1370 | es00 | 16 | 1001
GEG160ES GEG160ES2RS 160 | 260 | 135 | e | 176 | 1ss0 | 7es0 | 16 | 2002
GEG180ES. GEGI80ES2RS 180 | 200 | 155 | 100 | 196 | 2120 | o600 | 14 | 3221
GEGZ00ES GEG200ES-2RS 200 | se0 | 165 | 100 | 220 | 2320 | 1100 | 15 | as2s
GEG220ES GEG220ES2RS 220 | ad0 | 175 | 100 | 243 | 250 | 12700 | 16 | s1a2
GEG240ES GEG240ES-2RS 240 | a70 | 190 | 100 | 263 | aos0 | 15300 | 15 | esaz
GEG260ES GEG260ES-2RS 260 | a00 | 205 | 120 | 285 | 550 | 18000 | 15 | s244




i

2

AL ] A A A AR A PR 4]
www.gingtie-sh.com 021-36352566

[0 TR RS

Lnlaid line spherical plain radial bearings series

GEBK...S GECK...S




GE...C

GEG...C

I T 2 e A o A 1R 4]

www.gingtie-sh.com 021-36352566

i 78 18 10 58 5 B R R 5

Maintenace-free spherical plain radial bearings

3

I

o|aild

a1

AN

AEHEHE RS AORE
GE4C a 12 5 3 6 21 5.4 16 | 0.0033
GEsC 5 14 6 4 7 36 91 13 | 0.0038
GE6C 6 14 6 4 s 36 9.1 13| 0.0042
GEsC B 16 8 s 10 58 14 15 | 0.0075
GE10C 10 19 9 6 13 86 21 12 | oo
GE12C 12 2 10 7 15 il 28 10 | 0015
GE15C 15 2 12 o 18 18 a5 5 | 0027
GE17C 17 30 14 10 20 22 56 10 | 0041
GE20C 20 35 16 12 24 3t 78 9 | 0068
GE25C. 2 a2 20 16 29 51 127 7 | o119
GE3oC 30 a7 22 18 34 & 166 6 | 0163
BEEDRE
GEG4C 4 14 7 4 7 36 9.1 20 | 0.0045
GEGSC 5 16 o s B 58 14 21 | 0.0068
GEG6C 6 16 9 s 3 58 14 21 | 0.0081
GEGSC 8 19 1 6 1 86 21 21 | o014
GEG10C 10 22 12 7 13 1 28 16 | 0021
GEG12C 12 2 15 o 16 18 a5 16 | 0033
GEG15C 15 30 16 10 19 22 56 16| 0049
GEG17C 17 35 20 12 21 a1 7 19 | 0083
GEG20C 20 a2 25 16 24 51 127 | 47 | 0138
GEG25C




	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20
	21
	22
	23
	24
	25
	26
	27
	28
	29
	30
	31
	32
	33
	34
	35
	36
	42
	44
	45
	46
	47
	48
	49
	50
	51
	52
	53
	54



